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(1)

10.

11.

12.

El"f—?RTF[/ Clasg X
favg — fd9mM1/ SUBJEGTSCIENCE
fasa wls—216 / SUBJECTODE216
HqHfad) / Physics
axqfss 939/ Objective Type Question
Raa =i &1 gfd &% —
Fill in the blanks :-

AT BT S AT oo g1 | (Kgm/s / ms)

The S.I. Unit of momentum is .......... (Kgm/s s

PR, g1 3R fARRAYT BT oo 2| (%S / IRTH)

Work is the-------------- of force and displant. (product/sum)

JIITA SUUT BT SUIRT A& DB oo # frar ST 2| (RSase /Ags R)
Cancave mirror is used inthe .................. of vehicle. (Head light/Side Mirror)
faed a_RT & SLAFS ... 2| (d@eT / THIR)

TheS.I. Unit of electric currentis ............. (Volt/Ampere)

S.I.H9® T I BT SPIS e, |
The S.I. Unit of speedis .... ............

e B FAUH A T BT 9 Ped § |

Newton's first law of motiornsialso called . .............

G &1 IS A ........... Nm? Kg% |

The experimental value of G in equal to ............. % Kigi®

A B UAH A T BT &7 foram Y ®wEd & (STsar/Ham)
Newton's first lawof motion is called law of ................. (Inertia/Momentum)
A D TOADYIT B oo M 2| (U /7))

Newton's law of gravitation have ............. laws. (one/two)

AT 93 W &df B AT oo 2| (@ /Ted)

On increase of temperature the speed of sound .............. (increases/decreases)
B = I X o,

Work= force X .............

GRRRT BT st ATTAD . =

S.1. Unit of resistence is ..........

fadpcy 9ORI ¥ Us SR BT g1 B |

Choose the correct answer from the alternatives

ST BT SN T 7T & 2

() =met (@) o (m (=) o
Audometer of a vehiclmeasures

(a) Speed  (b) Velocity (c) Distance (d) Force

B BT S.I.HHD & —
() e (@) Mex/Adbvs (1) Yed (8) S



The S.1. unit of work is

(a) Metre (b) Metre/Sec. (c) Newton (d) Jule
T vt # faas qof & ?
(@) = (@) rd (1) dr= @) ©:

How many colours are found in Sun Light

(a) Three (b) Seven  (c) Five (d) Six
20 Hz ¥ %H 3T arel &afy &I FEd & —
(@) wrsrm (@) Faxa () A (&) P1$ e

Below 20Hz of sound frequency is called
(a) Ultrasonic(b) Infrasonic (c) Audiable (d) None

el awg @1 IS Tofl B | A A IR BT A B ST BR QAT I Al g B I
Ioft BRI

The kinetic energy of an object is K. If its mass is reduced to helf, then its keretigy wil
be :

(@K (b) 2K (c) K/2 (d) K/4

TG B W u, gl B v, IR B g f 2 O Melg U BT FF 801
The object distance. image distance and focus lenghtfor a spherical mirror are
related as

(a)ul.) =5 (b)%ﬁ%:% ) v-u=f dv+u=f

I e AT B ARy o AFg g T8 AhaT §

The frequency of sound which is not audible to human ear is

(a) 50 Hz (b) 500 Hz  (c) 5000 Hz (d) 50000 Hz
= § 9 o U <Eod g 9 Awfd gkt 7 —
(@) =TT (@) o (1) foRerod (&) @R

Which of the following term represent the minimum distance
(@) Speed (b) Velocity (c)Displacement  (d) Acceleration

o B AED & —

(@) Hex /J0° @) =T () 5 (&) Hex /30
The S.l.unit of force is-

(a) metre/sec (b) Newton  (c) Joule (d) metre/sec

AT o BT AN e gfe I & fFaRer & fay far omar 5 —
() sHfaga (@) srgfe () < gfe (@) fee gfe

To remove which type of defect is cocave lassd-
(a) Ashgmatism (b) Presbyopia(c) Hypermetropia (d) Myopia

gSol S.I. BT A5d & —
(@) 3Mmaciarel (@) aTeed () emgfa (&) ®Ig 81

2



Hertze is the S.1. unit of
(a) Time period (b) Wave length (c) Frequency(d) None of these

12. o9 gRTTT &1 R —

(@) =3t (@) T (¥1) @RI (@) foRermo

Rate of change of velocity is

(a) speed (b) valocity (c) acceleration (d) displacement
13, HdT T SHS —

Unit of momentum is-
(@) kgms'  (b)kgms®  (c)kg ms's?t (d) kg ms? s?

14, g Pl AT —
Value of g is-
(@ 9m/is () 9.8m/S (c)9.8m/s (d)9.8m

() aa ar s fafed —
2NAGS Wew! wQ 2N WC!I[{9Q

1. YTl Bl =Tel =—f=~ Hregqi f=—f{r= gdar 2 :

Velocity of light in different medium is variable.

2, 3dd YT BT 3(gadl 9ol § faurer qof—fagiyor searar 2 |

Dispersion of light into its component colours called dispersion of light.

3. fI=[d o @1 S.I.HEd fArd © |

The S.lL.unit of electrical charge is coloumb.

4, fae[d #Iex if3e SHoll &l fIga ol § dardl & |
Electric motor converts mechanical energy into electrical energy.

5. f&dfl oxg W a9 uRads @t ) JRING 9o & |ARURN 8l 7 |
The rate of charggof momentum is proportional to the applied force.
6. a7 ® yRmmr iR fRew I+ 8 § |

Momentum have both magnitude and direction.

7. I, T U4 RO & AN P aRI6R BT ¢ |
Force is equal to sum of mass and acceleration.

8. TS Bl U UIP I # BN 2 |
Every body possess the properties of Inertia.

(IV) sifa o Sa8a g3/ very short answer type questions

1, Y &1 g foram g g ?
What is third law of motion ?

2. STedl BT URIINT &Y |

Define inertia ?



3. yfdeafy w7 8 ?
What is Echo ?

4. WRIaa+ & fadr o ford |

Write laws of reflection.

5. 1 UFPRR @1 1 e ¥ ey 9y |
State the relationship between 1 ampere and 1 coulomb.

6. faega uRuer &1 el & a1 U G |

Name two safety measures commonly used in electric circuits.

7. T U U7 1 1 a7 orad Der dor g7 gfafe 97 Iadr 2 |

Name a mirror that can give an erect and enlarged image.

8. wfy T fbw g @) X 87
Name the slund waves.

9. fase &7 99T ¥ 89 $d dEd 8 b s fhar war?

When do we way that work is done.

10.  IfHASS &1 Ragia ford |

Write Archimede's Principle.

11, 9o 9 oY g7 FHS 27

What do you rean by the term Force?

12, AT AT o1 Rigra aar g7

What is the principle of conservation of momentum?

13.  TUIC RT & °
What is thrust ?

14, Soff fhaT UBR & B0 & — A9 T |
Write the names of different kinds of energy.

15. UPHTY b ORI bl =raq Far g ?
What is third law of motion ?

16.  3F &1 fum forg |

Write Ohmés | aw.

17.  faggd Arex &1 Rrgr< fore?
Write the principle of electric motor.

12. 9HFR &1 8°

What is Sonar?



V)

o SN 93 / short answer type guestion.

1.

10.

11.

12.

13.

TUlE Ud G # TR < & |
Differenciate between thrust and pressure.

AT AR AT H IR T PN |

Differenciate between speed and velocity.

e gfte 3 7971 8 ? S9@T SUIR ©d BTl § °
What is shoot sightedness ? What are its remedy

faera uRuyr # v @i R S ' ?

Why fuse is used in electrical circuit?

& YelTre! foRTTaRen & Fatad 5 e # 72 km/h &1 97 U R ol & |
(@) THPBT BN HdTed |
(b) 39 SR ISl §RT T &I g3 X &1 BN |

A train starting from rest attains a speed of 72 km/h in 5 minutes.
(a) Find its acceleration.
(b) Find the distance travelled by the train during this period.

fhdbe & T A dd UbT B oIV &oReTH T & AT U~ il Bl VY BT AN ECIEn|
g qar?

A filder moves his hands backward on catching a fast cricket ball, Why?

TH 9 BT 92l R IR 10 N © | SHBT R TRAT &I Gag W AT R B 8rm?
The weight of an object is 10 N of the earth. What is the weight of this object on the
surface of the moon?

qAieg a1 YA & 999 g offel @i fawar 27
Why do we observe red colour of sun at sunrise and sunset?

TSt it T ' ?
Wha is Kinetic Energy ?

SR BT S.|.AEE Td GF T § 7
What is the S.I. Unit and formula of work ?

TR TR T 8§ ?
What is ultrasonic wave ?

fogd o &7 aRwm |

Define electric current.

N 3R foReue # 3R W AN |

Differenciate between distance and displacement.



(VD)

14.

15.

16.

17.

18.

19.

20.

eI Td SRigferd 9l H 3R TR o |
Differenciate between balance and unbalance force.

gfafer fd ded € IR I8 fhad YR dT 81 8 7

What is meant by imagend how many types of image.

faela wIfd 1 a9 a1 FHSKT € ? S9ahT S.LHAEHS R § 7

What do you understand by electrical power ? What is its S.I. Unit ?

garforg Y 6 s = ut +§at2
Establish s = ut 4; at
= @ I BT JA 9 ®7 2 ? ISERT R FHSI |

Wh at i s Newtonds third | aw of motion ?

AT U4 R ¥ 3” FHST |
Explain the difference between mass and weight.

T @A 8?
What is pressure?

dd T 94/ Long answer type Questions

1.

TE 10 fHaum™ @t g% 5ms’ O | S B | SIS TS Folt FId B |
A mass of 10kg body is moving with velocity 5f<alculate its kinetic.

gioRIEl & Sofidg Al ¥ o UiaRIE @1 0T o |
Calculate the equivalent resistance in series combination of resistors.

Red @ TocdIHYY & A B fod gd [Hareyvl 9 8 aAsid T o |
State and explain Newton's laws of gravitation and derive a formula forajrandl force.

AMd B {6 IHR B HRAT & S1a97 9T & I &) Feradl o T B |
Explain the functions of human ear with the help of diagram of human auditory parts.

eve] faera ulRuer # Siftres HAo &1 AT @l <181 fdhar Sian ger Sofised ¥

HAIRTT B & I R g JfAadl BT qredhd H FATT B & FaT a9 22

In household circuit, why are series connection not done? What are the advantages of
connecting electrical devices in parallel, instead of connethigng in series?

IR wIex | oMy 1 FHId 87 gH] We Ud B & Ja1 Rigid 27 fF aeras
AT |

What do you mean by electric motor? Write the principle of its structure and functions.
Explain with the help of diagram.

AT =9 BT A ol B |

Explain human eye with diagram.

TP YISl VR W ST el oY 1.5 Adve § A7 o= ) AR 2
(a) &< TR THIM I ST BT o T N7 2
6

EX



(b) 2.5 DTS B IR SHD! AT T T ERAT ?

A vehicle on a hilly roadlips and falls on the ground in 1.5 Sec.

(a) What will be the velocity of vehicle at the time of strik the ground ?
(b) What will be its average velocity within 2.5 second.

9. TR SHoft BT ST YT BN |
Establish the Expression for kinetic enerdydody.

10. fo&d =rere &1 Uik {59 HReT ) R a=Rar 81 e |
What are the feetors on which the resistance of a conductor depends ? Explain.

11, wfad @ 8
What is power?

12.  =ged & Wi &1 g Fom @ ford qen gaiforg &) & f=ma

Write Newtonds second | aw of moti on and

13, fagga i &1 Rigia |fzd auig o |
Explain an electric generator with its principle.

WA fag= / Chemistry
XIS Y3 / Objective Type Question

(1 Raa vl & gfd &8 —
Fill in the blanks :-

1 URATY] BT G v # wfed BT & |
Mass of the atom is situated in the ...................
2 aret, faea T # AT =T & |
Acid always gives ................ ion in the solution.
3. ST BT AR T | BT O Tl B |
...................... metal is easily can cut with knife
4 AT AR H oo T YT STl R |
In the free site ............... metal found in nature
B Sl C o ifqrse 8, U] fdTed dIfd 3 |

........................ which is oxide of carbon but an inorganic compound.
6.  UATT BT IUPAC TTH B oo

7 a8 gfohar FoRTs erRacll & T W R H B S 8 oo FHEATH T |
The phenomenon in which thmsll of Agarbatti spread in entire roon is called ...........
8 SR fATIT BT PH oo FHEAR T |



9 URATY] GHATT oo ¥ Bfvad BT 2 |
The mass of an atom is concentrated in .....................
10. YA BT A0S Wi SR o @ g B 8 |
The nucleus of an atom composed of proton and ....................
1. ol 9@ & | A B © |
Each atom of an elementis .........cccccoviiiiiiiiie i,
12, BT UB o BIC & |
CarbonN iS @ ..eoeeeiiiiiiiie
13, e HT STANT ¥ed & w9 H Bl ¢ |
.............................. is used as lubricant.
19.  FEHE Qe & euaT BT AT o FHEAT B |

The study of science of organic compound is called ....................

20. e 0T & BRUT BIE- G Bl IAY] ¥ Ifed 3 |
By the property of ... one carbon atom combined with another carbon atom.
21. 7 T4 M<H B 419 B9 dTel NS STABAT. o HEATT |

Chemical reaction between acid and al kal.i

22, e &1 wa ardd & |
......................... is the best conductor of eletyrici
23, 95% UIATA oo, HEAT B |

95% ethanoliscalleda ........cccoeevvennen.... )

(1) fabey ST A UH SR BT g BN |

Choose the correct answer from the alternatives

1. feraferfiad o i o & —

(a) STet (b) CG, (c) et (d) &ar
Which of the following is an element
(a) Water (b) CO, (c) Iron (d) Air
2. SoIdeld UR DI- AT I I8T & 2
(@) g1 A (b) T (AT (C) I (d) @IS T2l

Nature of charge on electron-is
(a) Positive charge (b) Negative Charge(c) Neutral (d) None
3. WIS A AU WA H B9 arg &1 uanT fear ?

8



10.

(a) AT (b) efrer (c) AT (d) dfar

Rutherford used which metal in his experiment

(a) Silver (b) Iron (c) Gold (d) Copper
eI FRgS H AT & FISTHhdT 8 —

(a) 2 (b)3 (c) 1 (d) ®1E &
In Sodiumchloride valency of sodium-is

@2 (b) 3 (©1 (d) None
frfoRad # 9 &9 a@ =81 § —

(a) @raT (b) <Tet ORSIEL (d) Prae
Among the fdowing which is not element

(@) lron (b) Water (c) Copper (d) Carbon
g a9 f59 W 3N g9 # yRafda & Sar € —

(a) gaumiee  (b) FaI® (c) wifde arg (d) feeiep

The temperature on which a solid changes in to liquid is
(a) Meltingpoint (b) Boiling point  (c) Critical temperaturgd) Frzeeing point.
fafarRaa st # &9 faoas =& & —

(a) fAet (b) STt (c) arg (d) |reT oIt
Among the following mixtures which one is solution

(a) Soil (b) Water (c) Air (d) Soch Water
AT & ATNS BT Ol fhasT o —

(a) Sreed (b)) EXBIS (¢) R (d) oifras

Who discovered the nucleus of an atem

(a) Dalton  (b) Rutherford (c) Bohr (d) Thomson

AT & ARG T Ol fhasT o —

(a) Sfeed  (b) EXwrs (c) IR (d) ofad
Who discovered the nucleus of an atem

(a) Dalton  (b) Rutherford (c) Bohr (d) Thomson

HIOR Fewe BT G St § gol A & | °iel Bl T a7 A7
(@) &1 (b) @rer () e (d) =1

The crystals o€opper sulphate is dissolved in water. The colour of the solution will be:

(a) Green  (b) Red (c) Blue (d) Brown



(IlN)

11.

12.

13.

14.

15.

BIF Qe BT AT G 7

Which one is general formula of ester?

(a)ROH (b)) RCOOH (0 RCOOR (d RH
THIfed 3T BT WIS dTell 287
©RISIE] (b) STerdr wiRe® (c) RRamT (d) foiR=

The taste of acetic acid is like

(a) Rose (b) Burning Plastic (c) Vinegar (d) kerosene

P1g faera e foflen @1 ol & <l 8, S pH A 891 |

What is the pH Value whenkdue litmus solution becomes red?

(a) 11 (b) 7 ()5 (d)8
raTse faRad # fooa a1q &7 3R 27
(a) sregfafam™ (b) IRz (c) wfeam (d) Hr=ifas

Bauxite is the ore of which metal?

(a) Aluminium (b) Barium (c) Sodium (d) Magnesium

N, JT0] F=F & o7 H 91T & Tl Solag™il &I Fol AT &Il 27
Total number of electrons that take part in the formation,afibuecular bond is
(@2 (b)4 ()6 (d)8

fa g A 9349 / Very Short Answer type guestions

1.

ARTE Ta 8T # o=k e o |
Differenciate between compound and mixture.
ARG T § 2 ISTER0T AfRd HHSN |

What is isotope ? Explain with examples.

AT 3R fawsiv fsm # iR v o |

Differentiatebetween homogenous mixture and heterogenous mixture.
garef U e & A B 82

How is matter different from one another?

ARG FIT 87 Udh ISTERT |

What are isotopes? Give one example.

fF=feRad FIeRoT BT Hgferd w—
Balance the following equations:
) Zn+HCI ZnCl2 + H2
(i)  N2+H2 NH3

10



10.

11.

12.

13.

14.

15.

16.

17.

15.

DR Td YRR # B9 SareT fharfia 2 |

Which one is more reactive between copper and potassium? Give one reason.
frforRaa & arafae fharefedr & 9gd w9 # 99g —

Arrange the following in increasing order of chemical reactivity:

Mg, Cu, Fe, Na, Zn, Ca

yapfd § Jaawy ¥ U S drel &5 &7gall & 19 g |

Name any two metals available in free state.

T gd fasor # favg o |

Differenciate between compound and mixture.
URAT] 3R 39 H T IR 7 7

What is differenciate between atom and molecules.
oTq ®T U SeTexV § Sl

(a)FR & AU W 5 & (b) S & FATAD ©

Give one example of a metal that is

(a) Liquid at room temperature (b) bad conductor of heat.

[IFETHT BT BRI Tl H SIBR. FT @ AT 8 — HROT I |

Why is sodium kept immersed in kerosene 0il?

g AR & <Y wU H g fbae I iR S ©?

How many groups and periods are there in the long form of periodic table?
st arg o1 27 =i q1 st arg &1 4 fod oiR IwanT ford |

What is an alloy? Name any two metalsl afioys.

AT TqU, AT Iq9T oIl HIRAD o9 & Yh—Tdb SATERT < |
Give one example of common salt, acidic salt and alkaline salt.
it et o SuRerd fhariial Ja® &I 9 |

Name the functional groups in the following compdsin

(2) CHLCOCH,CHs (b) CH;OH

(c) CH;CH,CH; (d) CH,CH,COOH

Tl favermas srfaferar aar 87

What is single displacement reaction?

(IV) o9 S<¥i™ 9= / Short answer type guestions

1.

fa=feafRag o 9 ot v WR fewoft ford |
(8) Seaturd= (b) stao

11



10.

11.

12.

Write note on any one of following :
(a) Sublimation (b) Distillation
AJW T AT BISRIBET H AR T PN |

Differenciate Saturated and unsaturated hydrocarbon.

AifeTd vd dICRrM & IR Icl § 3l @1 S 57

Why are sodium and potassium kept immersed in kerosene oil?.

de fog — (a)  orgHd (b) B () I W
Write notes on(a) Slag (b) Inert Gas (c) Agua Regia
fFeforRad 5 9 9« U9 SRiqW SIggldled ®f g+ —

T, UfH, UTEH, WU, UIUTSH, &JcH

Identify Saturated and unsaturated hydrocarbon from the following :
Ethane, Ethene, Ethyne, Propane, Propyne, Butane.

e fagma RaRe a1 2?2 A9 IRR | IRE 99 & &1 gwHmEl b 9] |
What is Denatured Alcohol? Write two harmful effects of alcholic drinks on human body.
Fefoiad 3 & b v wR fewfl fod —

(a) famast (b) emgHe

Write note on any one of the following

(a) Roasting (b) Slag

FII Td ufaemys rfAfhar w1 8 P A B |

What is addition and substitution reactions ? Explain.

fr=Tifda ATt & IUPAC &1 -4 ford—

Write the IUPAC names of the following compounds.

(a) CHCOCH; (b) CHCHO (c) CH;CH,COOH
i qen FeREgS H 9 R '

State the differences between chloride and suspension.

frifed R fewoft ford—

(a) Arel FhHedT (b) TR

Write notes on-;

(@ Mole Concept(b) Isotope
Fehra IATRT BT TRATIT faolig |

Definea cyclic compound.

12



V)

()

<" S99 93 /long answer type Questions

1.

10.

11.

gTg & IRERU & oy ugad fafy &1 9o aof= e |

Explain different method of refining of metal with diagram.

AT S0 BT ASTERYT ARST B |

Explain homologouseries with examples.

e w1 82 FUs | el geM # e f59 UeR Aeg &R 7, A & |t &1 o
T

What are micelles? How does micelles help in cleaning clother? Draw the formation of

micelles neatly.

FERWIS & AT g ford |

Write the atomic theory of Rutherford.

S, 89 Tg 9 B T J&d U fawgall R N |

Write five points of differences between solid, liquid and gas.

STee & YRAY] G o | Sleed & URAY] RAGIT &1 SHerdT & BIRoT T 97
Write Dalton's Atomic Theory. What were the reasons for failure of Dalton's Atomic Theory?
U & STe ! fAfy FHsmy |
Explain the production of Ethenol.
HOIATT 200 T © 7 I8N0 Aled A |
What is homologous Serie€Explain with examples.
RIS AT IETER0T W gRATNT B |
Define a chemical reaction with example.
BESIGIEA B HEd 87 $HD YBRI BT IviF BN |
Define hydrocarbon? Describe the types of hydrocarbon.
JTRATHROT 3R JAHRT BT FHAS |
Explain oxidation and reduction.
Sfig ﬁsn:r / Biology

IS5 9T / Objective Type Question
Raa o=l o gfid &% —
Fill in the blanks :-
o S # 1 <ol fA@IE T © FHEAT 2 |

13



4 e ST B GRKID BT A e g |
Name of Charles Darwin's book is..................
5 DIRTBT BT G oo Bl
Cell was discovered by ...................
6 JRIET TGTT H o gHR @1 fhar gl g ?
In aerobic respiration ................ types of reaction take place ?
7. U WR Il BT b AT BT o g |
The only source of energy on the earth is
8.  TXT BT DR oo BIT 2 |

Structure of the heard is .................
(1) fpcy ST ¥ Ue SR BT g1 oW |

Choose the correct answer from the alternatives

1. Ig Ol TAEAE UshA OIS gRT Ul ST HIoH GIR &Rd & —
(a) g9  (b) 9rgor (c) UBr—wTeyor  (d) arsrcasid
The Biochemical process which help the plant in food produetion
(a) Respiratior{b) Nutrition (c) Photsynthesis  (d) Transpiréion
2.  BIRG fEreel 69 yoR o el © 2
(a) TR (b) SURITH (c) sEfuRT=g (d) ®r1g &1

Cell membrane is which type of membrance
(a) Permeable(b) Nonpermeable (c) Semi permeabel (d) None of these
4,  SIESISIH YT S § —
(a) gores @ oiel # (b) a9 @ wel § () aFi §  (d) SI=geil ¥
Rhizobium is found in
(a) In the root of pulséo) root of paddy (c) both (d) In animals
5. o9 e & g% yEor ® —
(a) HHSIT 3T (b) wHgfa 3T (c) Siare™m  (d) I8 &
Evidence of evolution are
(a) Homologous organ (b) Analogous orgar{c) Fossils  (d) All of these
B. e Tyl € aifs 98 g 9 fRdes arell e eRs fAfdon o ey
P T |
(a) Ao wd (b) MSIH R (¢) Aseo™ Wwa  (d) 399 9 &g 78

14




10.

11.

12.

13.

....................... is inportant because it absorbs harmful radiation emitted by sun.

(a) Oxygen layer (b) Ozone layer (c) Nitrogen layer  (d) None of these
S W B @ PRI g B ¥
(a) afe@¢ (b) ara-i—afady  (c) el IR (d) T6d BSa

Which of the following is dead cell?

(a) Tracheids (b) Sieve tube (c) Companion cell (d) Phloem fibers
W & BIF A AT Gl H ggardl g ?

(@) GPIR () & war (c) e (d) 9
Which part of the flower converts into fruit ?

(a) Stamen (b) Corpel  (c) Ovary (d) Seed
WRETHY H 8T § —

G EIESES] (b) 3SR (C) ISy (d) IRATHIT

In the autherlode are found

(a) Calyx (b) Ovary  (c) Carpel  (d) Pollengrain
ool ¥ o WA & R fbw A @ g —

(a) AR (b) = (c) & (d) P1$
Which plant Mendel selected for his experiment

(a) Pea (b) Gram (c) Bean (d) None

PIRIHT H ST B IR § B AT BRI Frrfad T8 gFT?
(a) Taa (b) SESH  (€) WIS YT (d) FETESSCS AT

In a cell which work cannot be done in the absence of Ribosome?

(a) respiration(b) excretion (c) Protein Synthesigd) Carbohydrate Synthesis
fraa gRT ATl 9 oa &R |l oaur ufedl 9@ ugarar ST &7

(@) Ssed (b)) Telgd  (c) STiSe iR wailgd (d) S99 | @IS A8l

Water and mineral salts are transported to leaves from soil by

(@) Xylem  (b) Phloem (c) Xylem and Phloem (d) Nenof these
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(a) P (b) EvEl (c) g (d) 5
Which is the bryophyte?

(@) Cycus  (b) Mustard (c) Wheat (d) Moss

()  srfa org ST9I g1/ Very Short answer type questions

1.

9 Sifdare & g a1l ol ford |
Explain the important fact of neo Darwinism.
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What do you mean by Crop Rotation? Write its advantage(any two).

2. i T BT AfF quiE o |

Describe water cycle with neat diagram.
3.

Name any four industries responsible for creating pollution.
4.

What do you mean by organic evolution?
5.

Differentiate xylem and phloem (any two).
6.

What is life process.
7.

Mention the functions ofell wall.
8.

Explain what is green revolution.
9.

What are physical resources?
10. A

Write a brief note on Vitamin A.

Short answer type questios

1.

What is blood ? How the blood clots.
2.

Mention the different stage of feeding of amoeba with diagram.
3.

Bryophyta are also called amphibians of plant kingdom. Why?
4.
5.

Draw a neat and labelled diagrafiNerve Cell(neuron).
6.

How does haemoglobin help in circulation of respiratory gases?
7.

What is crop rotation ? How it rkas fertile the soil.
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